HE4%V:

RANGLISTE MITGLIEDER +

SBUBEN
- KASSEL

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

34. SPIELABEND AM 28.04.20

FR. 24. APRIL DI. 28. APRIL GESPIELTE SERIEN VERL
RANG NAME SCHNITT| + /- || GEW | VERL

1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. A| V % GEG

= |LOHSE, MI. 2 3 1.235 10,7| 1,3 | 6,0

= |RUHKAMP 2 | 10 1.220 14,429 | 3,6

1 [ = |[BAUCKLOH, A. 8 |34 | 75%| 1.140 11,3 1,4 | 6,2

= |v. ROOS 1.274 | 1.242 929 |1.154 0o |13 1.104 | -11 J}12,0| 2,1 | 5,2

2 | = [mauL 18 | 23 | 57% | 1.060 11,9 2,3 | 5,0

3 | = |HONAUER 1.016 | 935 2 |23 Ja9% | 1.030 | -6 |J11,4| 2,4 | 6,0

4 | = |BRAUNHAHN 12 | 23 | 54% | 1.039 12,0 2,5 | 44

5 [ = JKURING 339 |1.033 12 | 17 | 41% | 993 11,3 2,2 | 44

6 | = |BREITFELD 764 497 | 952 21 | 45% | 936 22 l|10,1| 2,4 |51

7 | = |DELLITH 1.104 | 877 662 | 1114 33 |1 69% | 936 -3 19,7 |16 |43

1 JusT 1.182 | 514 1.216 | 1.128 14 | 12 907 | +53 || 9,8 | 1,7 | 3,8

8 (1 |eLacow 1.147 | 1.017 785 | 909 22 | 46% | 901 -6 []10,3]2,0 |43

1 [POTTER 16 900 98 (23 |54

9 (1 |BAUCKLOH, W. || 1.011 | 1.044 381 | 904 40 | 87% | 889 13 |183 |11 |59

1 [KNOFEL 1.039 | 798 4 883 | +35 |l95 |13 |38

10 | |WINTER 1.611 | 821 957 | -252 16 | 21 | 52% | 871 -54 ||10,5] 2,5 | 4,0

11 KEIM 2 | 24 | 51%| 866 81|11 |54

12 | = |SKWARSKI 18 | 20 | 50% | 856 9,9 | 2,7 |54

13 | 1> |[EWERT, W. 30 | 63% | 847 86 | 1,7 | 49

14 |1 IKUDERLING 662 1.325 | 617 33 | 71%| 831 +9 183 |17 |50

15 | |GANTE -221 | 1.160 151 | 487 10 | 45 | 99% | 824 -23 ||10,6 | 3,1 | 4,4

16 | = |GESSNER 17 | 36% | 792 9,1 |20 |42

17 | = |JEWERT, UWE 30 | 63% | 774 7,7 | 1,4 | 5,7

= |KOSSINGER 456 | 1.089 889 | 670 12 | 12 733 |+10|]170]13 |38

18 | = |BLAUERT, A. 2 |32 |68%| 617 6,2 |15 |46

4 |KRATZSCH 242 | 1.047 784 | 324 10 | 6 610 28 |165 | 1,2 |40

= |PORTER 22 | 750 2 |14 520 26 Il 7,2 |29 | 36

= |LOHSE, MA. - 2 | 4% | 1.239 10,5 | 0,0 | 4,0

= |GRECIC - [ 11 ] 23%| 836 73|10 |65

= |BOHM - 2 4% 834 65 |00 |70

= |WIESER 1.390 | 598 876 | 855 - [ 11 ] 23%| 833 +7 19,0 |16 |41

= |DILCHER - 8% | 789 7,8 | 1,5 | 45

= [REITZE, A. - 4% | 787 75|15 |35

= |HEYNER - 6% | 777 6,7 | 1,0 | 6,7

= |REITZE, R. - [ 11 ] 23%| 766 7,9 | 1,9 | 4,7

= |APPELBAUM - 1 | 2% | 289 50 | 4,0 |90

= |KAUFMANN - 2% 173 6,0 [ 4,0 |20

= |[UNBEKANNT - 1 | 2% | -309 8,0 |80 |20

DURCHSCHNITT | 825 9,4 |18 |48




